
3-WAY TIE

PROCEDURE

• The total points scored (only for and not against) against all teams in the 
pool will be calculated.

• The average of the total scores is calculated.
• The teams are ranked in the descending order of their averages. (i.e, 

team with highest average is given highest rank)

CLASSIFICATION



3-WAY TIE
Example: 4 teams A,B,C,D are in a pool. The teams have been given the following 
seeding

A - 4
B - 3
C - 2
D – 1

After all the 6 games in the league phase, teams A,B,D have won 2 games each 
resulting in a 3-WAY TIE.

CLASSIFICATION



3-WAY TIE
Case 1: 3 Teams have different total scores

RESULT: Team with the highest AVERAGE is given highest rank

CLASSIFICATION



3-WAY TIE
Case 2: 3 Teams have same total scores

RESULT: Team with the highest SEEDING is given highest rank

CLASSIFICATION



3-WAY TIE
Case 3: 2 Teams have same total scores

RESULT: Winner in HEAD-TO-HEAD match is given highest rank

CLASSIFICATION
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